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4. Find x and the m£SAN if m£SAD = 94°, m£SAN = 3x + 15,and m«DAN = x + 7.

Geometry: Justification:
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5. Find x and the m£SAD if m£SAD = 16x — 2, m£SAN = 9x — 7,and m«<DAN = 3x + 17.
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Geometry: Justification:
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6. Find x and the f RAY BD is an angle bisector.
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4. Find x and the m4SAN if msSAD = 94°, m4SAN = 3x + 15, and mzDAN = x + 7.

8 | Geometry: Justification:

5. Find x and the m4SAD if msSAD = 16x — 2, m4SAN = 9x — 7,and m«DAN = 3x + 17.

Geometry: Justification:
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6. Find x and the mLSA'D if RAY BD is an angle bisector.




